X
X
° 2
~¢ 10
prd
©
%
prd
3 10
1
107t
1072
1073
2
)
<
|
|_
<C
e 1
ie)
=
xx
0.5

7000 GeV pp tt
_| I I I | I I I | I I |_
= E(KQ) - E(et) ratio (ATLAS KS andA in ttbar) —=
~  m ATLAS .
| —&— Pythia 8.308 default m 7]

—— Pythia 8.308 tune-A14-CTEQL1
= ------ Pythia 8.308 tune-A14-MSTW2008LO =
T Pythia 8.308 tune-A14-NNPDF2.3LO -
[ -4~ Pythia 8.308 tune-CUETP8S1 i
| =
- =

x —

| 1 1 1 | 1 1 1 | 1 1 |

0 0.2 0.4 0.6

Rivet 3.1.10, = 2.6M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


